

Name: _____

Date: _____

1. Simplify and determine the NPV.

a) $\frac{-35a^2b^3c^4}{40abc^7}$ $= \frac{-7ab^2}{8c^3}$ NPV : $a \neq 0, b \neq 0, c \neq 0$	b) $\frac{12-3m}{20-5m}$ $= \frac{3}{5}$ NPV : $m \neq 4$
c) $\frac{6x^2-8x}{4x}$ $= \frac{3x-4}{2}$ NPV : $x \neq 0$	d) $\frac{m^2+2mn-3n^2}{3m^2+9mn}$ $= \frac{(m-n)}{3m}$ NPV : $m \neq 0, m \neq 3n$
e) $\frac{a^2+10ab+24b^2}{a^2-36b^2}$ $= \frac{(a+4b)}{(a-6b)}$ NPV : $a \neq \pm 6b$	f) $\frac{2x^3-28x^2-102x}{18x-2x^3}$ $= \frac{(x-17)}{-(x-3)}$ NPV : $x \neq 0, -3, 3$

2. Simplify and determine the NPV.

a) $\frac{(2m)^2}{5n} \times \frac{10m}{8n} \div \frac{15m}{(4n)^2}$ $= \frac{16m^2}{15}$ NPV : $m \neq 0, n \neq 0$	b) $\frac{2x^2-3x-20}{2x^2+5x-12} \times \frac{2x^2-15x+18}{2x^2-7x-30}$ $= \frac{(x-4)}{(x+4)}$ NPV : $x \neq -4, \frac{-5}{2}, \frac{3}{2}, 6$
c) $\frac{2x-1+\frac{3x}{x+1}}{3x-\frac{x}{x+1}}$ $= \frac{2x^2+4x-1}{x(3x+2)}$	d) $\frac{2y-5+\frac{3y^2-3y}{y+1}}{3y-1-\frac{2y+1}{y+1}}$ $= \frac{-5}{3y^2-2}$
e) $\frac{9a^2+42ab+49b^2}{2a^2-13ab+20b^2} \times \frac{4a^2-25b^2}{9a^2-49b^2} \div \frac{2a+5b}{3a^2-19ab+28b^2}$ $= 3a+7b$ NPV : $a \neq \pm \frac{5b}{2}, a \neq \pm \frac{7b}{3}, a \neq 4b$	

$$f) \frac{2x^2 + 5xy + 2y^2}{3x^2 - 8xy - 3y^2} \times \frac{x^2 - 9y^2}{x^2 - 4y^2} \div \frac{3x^2 + 11xy + 6y^2}{2x^2 - 3xy - 2y^2}$$

$$= \frac{(x+2y)(2x+y)}{(x+3y)(3x+2y)} \quad NPV : x \neq \pm 3y, x \neq \pm 2y, x \neq -\frac{2y}{3}, x \neq -\frac{y}{2}, x \neq -\frac{y}{3}$$

3. Simplify and state all NPVs.

$$a) \frac{6x-11y}{9x} + \frac{3x-16y}{6y}$$

$$= \frac{9x^2 - 36xy - 22y^2}{18xy}$$

$$b) \frac{2x+3y^2}{8xy} - 3 - \frac{5x^2-2y}{6x^2}$$

$$= \frac{6x^2 - 92x^2y + 9xy^2 + 8y^2}{24x^2y}$$

$$c) \frac{7x}{x^2-x-12} - \frac{4x}{x^2+2x-3}$$

$$= \frac{3x}{(x-4)(x-1)}$$

$$d) \frac{3a+2}{a^2+10a+21} + \frac{5a-4}{15+2a-a^2}$$

$$= \frac{2(a^2+22a-9)}{(a+7)(a+3)(5-a)}$$

$$e) \frac{5m+25}{2m^2+13m+15} - \frac{2m-5}{m^2-4}$$

$$= \frac{m^2+4m-5}{(m+2)(m-2)(2m+3)}$$

$$f) \frac{3x+y}{2x^2-11xy-21y^2} + \frac{x-2y}{2x^2+11xy+12y^2} - \frac{2x+y}{x^2-3xy-28y^2}$$

$$= \frac{-x^2-4xy+15y^2}{(x-7y)(2x+3y)(x+4y)}$$

4. Solve.

$$a) \frac{x+15}{5} = \frac{2}{x} + \frac{x+1}{5}$$

$$x = \frac{5}{7}$$

$$b) \frac{2x+1}{3x-2} = \frac{4x+3}{6x-5}$$

$$x = \frac{1}{5}$$

$$c) \frac{1}{x+2} + \frac{4}{2x-1} = 1$$

$$x = \frac{-3}{2}, 3$$

$$d) \frac{9x^2}{x^2-25} = \frac{4x}{x-5} + \frac{x}{x+5}$$

$$x = 0, \frac{15}{4}$$

$$e) x - \frac{1}{x+4} = -4$$

$$x = -5, -3$$

$$f) \frac{3x+2}{2x+1} = \frac{3x+1}{x-1} - \frac{1}{3}$$

$$x = -2, \frac{-5}{7}$$